EARAZROREIERT — 2 N—XBISY —F 201959818 (H) 6MEEEM2H

m C2+=# H+>%—#& \ (X4&] # \ (@l — | & (@) 12000 &
[AE4£] 17 :200,000" ~ 23#%&:52,000”  33&:28,000” 437 :20,000MH .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- FER 114, — . — EEE (KR)
11718 HAy bFrv—0O "3 56.0 1(1_4)2 &3 %.2 ! (iﬂ) gﬁu}ﬁgt‘_
R:Z ATV E—> BALITISIN Ll ki
. £ : = = FES= (@)
olglo| I bLrFzL 5 | BE 1143 S ° L [mEx
R:hxexY BT TIA Rt R
=3, 3 | BEREE 1:15.3 4-4 39.1| — 2 420 | 1EEEIEE] (KR)
317|7 0753 F > * ;1.0 (6) o) EHES
LTANNTTFHF— BivAxhF EvilLy RT7—L
. g = 1:15.7 6-7 39.1| — 3 433 | BREHBLE (B%FE)
4 3 JA4 2T+ T—F 56.6 (2 1/2) (+6) iiﬁg-g)ﬁ
R:TI9IEAR B:IX /NI [E4S
N 403 | WIABER 1:15.8 5-4 39.4| — 7 436 | PR (EERE)
555 7171 54.0 (1/2) 43 | BEER
L:b—t2RwLARY B:NLKMN)—FIL palite ]
N BREE :15. = . — HPRE— (KR
N . MPECFLE L "EED e z2 |02 P | #Eem
RiFANT =TI BTy RHL DT UL
S N R SRR : — - &2 ARBRI (KiR)
RN el e N
LeVIWWIN—=F v —L BNT—T > SRR e ]
o2 4t 3 | mOB— 1:16.2 8-8 39.1| — 4 430 | fE<AREE GKR)
g|8[10] 7 F>¥a 54.0 (1/2) (g | R '
R b=t RILEY BHHPFIIIILR s
S i 3 | mERE 1:16.8 6-6 4.2 — 9 409 | RS (ERR)
9 6| FFE3 54.0 (4) (-p) | EHEE
L:R)=—L¥v—=— BYIXTULT EvEL e
= M, = Ho4 | AR 1:19.1 10-10 | 40.5| — 10 | 435 |&WE—= (KR
10 2 YA xI=a21—-X 56.0 (21 4) (-9) REHSE
L7 Rv1Y<2y IR B:R7U—~7— EvJiLy RT77—L4L
® 1—F—@EBIERL
13—7-—
2a=5"=
Ja=5= 9,4,8,7,5,(3,6),10,1,2
40—+ — 9,4,8,(5,7),6,3,10,1,2
[ N5
B 8 1204 714K 8-9 440 e E 7-8 450 JEE 7-8-9 660
B B 8 1004 7-8 150H B = 8-9 1,190 EE 8-9-7 3,700
9 300H 7-9 480M B H 8-9 1,460
7 110

ABICOVWTRDTEEERROODE. TR LIV,



